

The (ψ, φ) -Generalized Weakly Reich Contraction Mapping Theorem

Clement Boateng Ampadu

31 Carrolton Road, Boston, MA 02132-6303, USA

e-mail: drampadu@hotmail.com

Abstract

In this paper we introduce a concept of (ψ, φ) -generalized weakly Reich contraction mapping and obtain a fixed point theorem. Some corollaries are consequences of the main result.

1 Introduction and Preliminaries

Theorem 1.1 ([1], [2]). Let (X, d) be a complete metric space. If $T : X \mapsto X$ satisfies

$$d(Tx, Ty) \le k[d(x, Tx) + d(y, Ty)]$$

where $0 < k < \frac{1}{2}$ and $x, y \in X$, then T has a unique fixed point.

Theorem 1.2 ([3]). Let (X,d) be a complete metric space. If $T : X \mapsto X$ satisfies

$$d(Tx, Ty) \le k[d(x, Ty) + d(y, Tx)]$$

where $0 < k < \frac{1}{2}$ and $x, y \in X$, then T has a unique fixed point.

^{*}Corresponding author

Received: October 9, 2023; Accepted: November 14, 2023; Published: November 27, 2023 2020 Mathematics Subject Classification: 54H25, 47H10, 54E50.

Keywords and phrases: metric space, fixed point theorems, (ψ, φ) -generalized weakly Reich contraction mapping.

Definition 1.3 ([4]). A self mapping T on a metric space X is called weak ψ -contraction if there exists a function $\psi : [0, \infty) \mapsto [0, \infty)$ such that for each $x, y \in X$

$$d(Tx, Ty) \le d(x, y) - \psi(d(x, y)).$$

Definition 1.4 ([5]). Let (X,d) be a metric space. A mapping $T : X \mapsto X$ is said to be weakly C-contractive (or a weak C-contraction) if for all $x, y \in X$

$$d(Tx, Ty) \le \frac{1}{2} [d(x, Ty) + d(y, Tx)] - \varphi(d(x, Ty), d(y, Tx))$$

where $\varphi : [0, \infty)^2 \mapsto [0, \infty)$ is a continuous function such that $\varphi(x, y) = 0$ if and only if x = y = 0.

Definition 1.5 ([6]). Let (X, d) be a metric space. A mapping $T : X \mapsto X$ is said to be generalized f-weakly contractive if for all $x, y \in X$

$$d(Tx,Ty) \le \frac{1}{2}[d(fx,Ty) + d(fy,Tx)] - \varphi(d(fx,Ty),d(fy,Tx))$$

where $\varphi : [0, \infty)^2 \mapsto [0, \infty)$ is a continuous function such that $\varphi(x, y) = 0$ if and only if x = y = 0.

Remark 1.6. If f is the identity mapping in the above definition then generalized f-weakly contractive mapping is weakly C-contractive.

Definition 1.7 ([7]). The function $\psi : [0, \infty) \mapsto [0, \infty)$ is called an altering distance function if the following properties are satisfied

- (a) ψ is continuous and non-decreasing.
- (b) $\psi(t) = 0$ if and only if t = 0.

Definition 1.8 ([8]). A map $T : X \mapsto X$ is called (ψ, φ) -generalized f-weakly contractive if for each $x, y \in X$

$$\psi(d(Tx,Ty)) \le \psi\left(\frac{1}{2}[d(fx,Ty) + d(fy,Tx)]\right) - \varphi(d(fx,Ty),d(fy,Tx))$$

where

- (a) $\psi : [0, \infty) \mapsto [0, \infty)$ is an altering distance function;
- (b) $\varphi: [0,\infty)^2 \mapsto [0,\infty)$ is a continuous function with $\varphi(t,s) = 0$ if and only if t = s = 0.

Remark 1.9. If in the above definition we take $\psi(t) = t$, then (ψ, φ) -generalized f-weakly contractive mapping is generalized f-weakly contractive.

Definition 1.10 ([8]). Let X be a nonempty set. A point $x \in X$ is a coincidence point (common fixed point) of $f: X \mapsto X$ and $T: X \mapsto X$ if fx = Tx (x = fx = Tx).

Definition 1.11 ([8]). Let X be a nonempty set. The pair $\{f, T\}$ is called commuting if Tfx = fTx for all $x \in X$.

In this paper we study some common fixed point theorem for (ψ, φ) -generalized weakly Reich contraction in metric spaces.

2 Main Result

Definition 2.1. A map $T: X \mapsto X$ will be called (ψ, φ) -generalized weakly Reich contractive if for each $x, y \in X$

$$\psi(d(Tx,Ty)) \le \psi\left(\frac{1}{3}[d(fx,Tx) + d(fy,Ty) + d(fx,fy)]\right) - \varphi(d(fx,Tx), d(fy,Ty), d(fx,fy))$$

where

- (a) $\psi: [0,\infty) \mapsto [0,\infty)$ is an altering distance function
- (b) $\varphi : [0,\infty)^3 \mapsto [0,\infty)$ is a continuous function with $\varphi(x,y,z) = 0$ if and only if x = y = z = 0.

Theorem 2.2. Let (X,d) be a metric space. Let $f, T : X \mapsto X$ satisfy $T(X) \subseteq f(X), (f(X), d)$ is complete and for each $x, y \in X$

$$\psi(d(Tx,Ty)) \le \psi\left(\frac{1}{3}[d(fx,Tx) + d(fy,Ty) + d(fx,fy)]\right) - \varphi(d(fx,Tx), d(fy,Ty), d(fx,fy))$$

where

- (a) $\psi: [0,\infty) \mapsto [0,\infty)$ is an altering distance function,
- (b) $\varphi: [0,\infty)^3 \mapsto [0,\infty)$ is a continuous function with $\varphi(x,y,z) = 0$ if and only if x = y = z = 0,

then T and f have a coincidence point in X. Further, if T and f commute at their coincidence points, then T and f have a common fixed point.

Proof. Let $x_0 \in X$. Since $T(X) \subseteq f(X)$, we can choose $x_1 \in X$ so that $fx_1 = Tx_0$. Since $Tx_1 \in f(X)$, there exist $x_2 \in X$ such that $fx_2 = Tx_1$. By induction we construct a sequence $\{x_n\}$ in X such that $fx_{n+1} = Tx_n$ for every $n \ge 0$. Since T is a (ψ, φ) -generalized weakly Reich contraction, we deduce the following

$$\begin{split} \psi(d(Tx_{n+1}, Tx_n)) &\leq \psi \left(\frac{1}{3} [d(fx_{n+1}, Tx_{n+1}) + d(fx_n, Tx_n) + d(fx_{n+1}, fx_n)] \right) \\ &- \varphi(d(fx_{n+1}, Tx_{n+1}), d(fx_n, Tx_n), d(fx_{n+1}, fx_n)) \\ &\leq \psi \left(\frac{1}{3} [d(Tx_n, Tx_{n+1}) + d(Tx_{n-1}, Tx_n) + d(Tx_n, Tx_{n-1})) \right) \\ &- \varphi(d(Tx_n, Tx_{n+1}), d(Tx_{n-1}, Tx_n), d(Tx_n, Tx_{n-1})) \\ &\leq \psi \left(\frac{1}{3} [d(Tx_n, Tx_{n+1}) + d(Tx_{n-1}, Tx_n) + d(Tx_n, Tx_{n-1})) \right) \\ &\leq \psi \left(\frac{1}{3} [3d(Tx_n, Tx_{n-1})) \right) \\ &= \psi(d(Tx_n, Tx_{n-1})). \end{split}$$

Hence for all $n = 1, 2, \dots$, we have $d(Tx_{n+1}, Tx_n) \leq d(Tx_n, Tx_{n-1})$. Since ψ is a non-decreasing function. Thus, $\{d(Tx_{n+1}, Tx_n)\}$ is a monotone decreasing sequence of non-negative real numbers and hence is convergent. Let $\lim_{n\to\infty} d(Tx_{n+1}, Tx_n) = r$. Now, since

$$\psi(d(Tx_{n+1}, Tx_n)) \le \psi\left(\frac{1}{3}[d(Tx_n, Tx_{n+1}) + d(Tx_{n-1}, Tx_n) + d(Tx_n, Tx_{n-1})]\right) - \varphi(d(Tx_n, Tx_{n+1}), d(Tx_{n-1}, Tx_n), d(Tx_n, Tx_{n-1})).$$

If we take limits in the above inequality as $n \to \infty$ we get that

$$\psi(r) \le \psi\left(\frac{1}{3}(r+r+r)\right) - \varphi(r,r,r)$$
$$= \psi(r) - \varphi(r,r,r)$$

which implies that $\varphi(r, r, r) \leq 0$. Thus r = 0, and hence $\lim_{n \to \infty} d(Tx_{n+1}, Tx_n) = 0$. Now we show that $\{Tx_n\}$ is a Cauchy sequence. If otherwise, then there exist $\epsilon > 0$ for which we can find subsequences $\{Tx_{m(k)}\}$ and $\{Tx_{n(k)}\}$ of $\{Tx_n\}$ with n(k) > m(k) > k such that for every k, $d(Tx_{m(k)}, Tx_{n(k)}) \geq \epsilon, d(Tx_{m(k)}, Tx_{n(k)-1}) < \epsilon$. So we have,

$$\begin{aligned} \epsilon &\leq d(Tx_{m(k)}, Tx_{n(k)}) \\ &\leq d(Tx_{m(k)}, Tx_{n(k)-1}) + d(Tx_{n(k)-1}, Tx_{n(k)}) \\ &\leq \epsilon + d(Tx_{n(k)-1}, Tx_{n(k)}). \end{aligned}$$

Letting $n \to \infty$ and using $d(Tx_{n-1}, Tx_n) \to 0$, we have, $\lim d(Tx_{m(k)}, Tx_{n(k)}) = \epsilon = \lim d(Tx_{m(k)}, Tx_{n(k)-1})$. Now we have

$$\begin{split} \psi(\epsilon) &\leq \psi(d(Tx_{m(k)}, Tx_{n(k)})) \\ &\leq \psi\left(\frac{1}{3}[d(fx_{m(k)}, Tx_{m(k)}) + d(fx_{n(k)}, Tx_{n(k)}) + d(fx_{m(k)}, fx_{n(k)})\right) \\ &- \varphi(d(fx_{m(k)}, Tx_{m(k)}), d(fx_{n(k)}, Tx_{n(k)}), d(fx_{m(k)}, fx_{n(k)})) \end{split}$$

which implies that

$$\begin{split} \psi(\epsilon) &\leq \psi(d(Tx_{m(k)}, Tx_{n(k)})) \\ &\leq \psi\bigg(\frac{1}{3}[d(Tx_{m(k)-1}, Tx_{m(k)}) + d(Tx_{n(k)-1}, Tx_{n(k)}) + d(Tx_{m(k)-1}, Tx_{n(k)-1})\bigg) \\ &- \varphi(d(Tx_{m(k)-1}, Tx_{m(k)}), d(Tx_{n(k)-1}, Tx_{n(k)}), d(Tx_{m(k)-1}, Tx_{n(k)-1})). \end{split}$$

If we take limits in the above inequality and using the fact that $\lim_{n\to\infty} d(Tx_{n+1}, Tx_n) = 0$ we deduce the following

$$\begin{split} \psi(\epsilon) &\leq \psi \bigg(\frac{1}{3} [0+0+\epsilon] \bigg) - \varphi(0,0,\epsilon) \\ &= \psi \bigg(\frac{1}{3} \epsilon \bigg) - \varphi(0,0,\epsilon) \\ &\leq \psi(\epsilon) - \varphi(0,0,\epsilon) \end{split}$$

which implies that $\varphi(0,0,\epsilon) \leq 0$, which is a contradiction since $\epsilon > 0$. Hence $\{Tx_n\}$ is a Cauchy sequence and therefore is convergent in the complete metric space (X,d). Since $fx_n = Tx_{n-1}$, $\{fx_n\}$ is a Cauchy sequence in (f(X),d) which is complete. Thus there is $z \in X$ such that $\lim_{n\to\infty} fx_n = fz$. Now we have

$$\begin{split} \psi(d(Tz, fx_{n+1})) &= \psi(d(Tz, Tx_n)) \\ &\leq \psi\left(\frac{1}{3}[d(fz, Tz) + d(fx_n, Tx_n) + d(fz, fx_n)]\right) \\ &- \varphi(d(fz, Tz), d(fx_n, Tx_n), d(fz, fx_n)) \\ &= \psi\left(\frac{1}{3}[d(fz, Tz) + d(fx_n, fx_{n+1}) + d(fz, fx_n)]\right) \\ &- \varphi(d(fz, Tz), d(fx_n, fx_{n+1}), d(fz, fx_n)). \end{split}$$

Now taking limits as $n \to \infty$ we deduce the following

$$\psi(d(Tz, fz)) \le \psi\left(\frac{1}{3}d(fz, Tz)\right) - \varphi(d(fz, Tz), 0, 0)$$
$$\le \psi\left(d(fz, Tz)\right) - \varphi(d(fz, Tz), 0, 0)$$

which implies $\varphi(d(fz, Tz), 0, 0) \leq 0$. Hence, d(fz, Tz) = 0, thus, fz = Tz, and hence z is a coincidence point of T and f. Now suppose that T and f commute at z. Let w = Tz = fz, then T(w) = T(f(z)) = f(T(z)) = f(w). Now we have

$$\begin{split} \psi(d(Tz,Tw)) &\leq \psi \left(\frac{1}{3} [d(fz,Tz) + d(fw,Tw) + d(fz,fw)] \right) \\ &- \varphi(d(fz,Tz), d(fw,Tw), d(fz,fw)) \\ &= \psi \left(\frac{1}{3} [d(Tz,Tz) + d(Tw,Tw) + d(Tz,Tw)] \right) \\ &- \varphi(d(Tz,Tz), d(Tw,Tw), d(Tz,Tw)) \\ &= \psi \left(\frac{1}{3} d(Tz,Tw) \right) - \varphi(0,0, d(Tz,Tw)) \\ &\leq \psi \left(d(Tz,Tw) \right) - \varphi(0,0, d(Tz,Tw)) \end{split}$$

which implies that $\varphi(0, 0, d(Tz, Tw)) \leq 0$. Hence, d(Tz, Tw) = 0. Therefore, Tw = fw = w and the proof is finished.

Corollary 2.3. Let (X, d) be a complete metric space. If $T : X \mapsto X$ satisfies

$$\psi(d(Tx,Ty)) \le \psi\left(\frac{1}{3}[d(x,Tx) + d(y,Ty) + d(x,y)]\right) - \varphi(d(x,Tx),d(y,Ty),d(x,y))$$

where

- (a) $\psi: [0,\infty) \mapsto [0,\infty)$ is an altering distance function
- (b) $\varphi: [0,\infty)^3 \mapsto [0,\infty)$ is a continuous function with $\varphi(x,y,z) = 0$ if and only if x = y = z = 0

then T has a unique fixed point.

Proof. It follows by taking f to be the identity mapping in the above theorem. The uniqueness of the fixed point follows from the contractive condition of the Corollary.

Corollary 2.4. Let (X,d) be a metric space. Let $f, T : X \mapsto X$ satisfy $T(X) \subseteq f(X), (f(X), d)$ is complete and for each $x, y \in X$

$$d(Tx, Ty) \le \frac{1}{3} [d(fx, Tx) + d(fy, Ty) + d(fx, fy)] - \varphi(d(fx, Tx), d(fy, Ty), d(fx, fy)) = \varphi(d(fx, Tx), d(fy, Ty), d(fx, fy))$$

where $\varphi : [0,\infty)^3 \mapsto [0,\infty)$ is a continuous function with $\varphi(x, y, z) = 0$ if and only if x = y = z = 0, then T and f have a coincidence point in X. Further, if T and f commute at their coincidence points, then T and f have a common fixed point.

Proof. Let $\psi(t) = t$ in the above theorem.

Corollary 2.5. Let (X, d) be a complete metric space. If $T : X \mapsto X$ satisfies for all $x, y \in X$,

$$d(Tx, Ty) \le \frac{1}{3} [d(x, Tx) + d(y, Ty) + d(x, y)] - \varphi(d(x, Tx), d(y, Ty), d(x, y))$$

where $\varphi : [0,\infty)^3 \mapsto [0,\infty)$ is a continuous function with $\varphi(x,y,z) = 0$ if and only if x = y = z = 0, then T has a unique fixed point.

Proof. It follows by taking f to be the identity mapping in the above Corollary. The uniqueness of the fixed point follows from the contractive condition of the Corollary.

References

- Kannan, R. (1969). Some results on fixed points. II. American Mathematical Monthly, 76(6), 405-408. http://dx.doi.org/10.1080/00029890.1969.12000228
- [2] Kannan, R. (1986). Some results on fixed points. Bulletin of the Calcutta Mathematical Society, 60(1), 71-76.
- [3] Chatterjee, S. K. (1972). Fixed point theorem. Comptes Rendus de l'Académie Bulgare des Sciences, 25(6), 727-730.

- [4] Alber, Y. I., & Guerre-Delabriere, S. (1997). Principle of weakly contractive maps in Hilbert spaces. In I. Gohberg (Ed.), New results in operator theory and its applications: The Israel M. Glazman memorial volume (Vol. 98, pp. 7-22). Birkhauser. http://dx.doi.org/10.1007/978-3-0348-8910-0_2
- [5] Choudhury, B. S. (2009). Unique fixed point theorem for weakly C-contractive mappings. Kathmandu University Journal of Science, Engineering and Technology, 5(1), 6-13. http://dx.doi.org/10.3126/kuset.v5i1.2842
- [6] Chandok, S. (2011). Some common fixed point theorems for generalized f-weakly contractive mappings. Journal of Applied Mathematics and Informatics, 29(1-2), 257-265. http://dx.doi.org/10.1016/j.camwa.2011.09.009
- [7] Khan, M. S., Swaleh, M., & Sessa, S. (1984). Fixed point theorems by altering distances between the points. Bulletin of the Australian Mathematical Society, 30(1), 1-9. http://dx.doi.org/10.1017/s0004972700001659
- [8] Aydi, H. (2013). On common fixed point theorems for (ψ, φ)-generalized f-weakly contractive mappings. Miskolc Mathematical Notes, 14(1), 19-30. http://dx.doi.org/10.18514/mmn.2013.399

This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.